ﬂh Moltiplicare i decimali (Visivamente) Nome

Usa il modello visivo per risolvere ogni problema. Risposte
1) 2x09=
1.
2.
3.
2) 2x03=
4,
5.
6.
3) 2x046=
4) 3x02=
5) 2x0,96=
6) 4x0,30=

_ 16 [83]67[50[33][17] 0]
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ﬂh Moltiplicare i decimali (Visivamente) Nome _Soluzioni

Usa il modello visivo per risolvere ogni problema. Risposte
1) 2x09= 18,
1 /10 B 1’8
6
2 10= 0.6
2,
3 100 = 0,92
2) 2x03= Y =
T 4, 10 — 0,6
192
5 /100 =192
120
6. /100 =12
3) 2x0,46=
4) 3x0.2=
5 2x0,96=
6) 4x0,30=
: 1-6 |83]|67]50[33][17] 0 |
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